Solution Guide:

A = sqrt(R Square)

B = sqrt(I)

C = 1 (single variable)

E = 49 (n-1, 50-1)

D = 48 (n-2, 50-2)

F = SST x R-square

G = SST – F (SST – SSR)

H = F/C
I = G/D
J = H/I
K = P-value of X-variable

L = B/sqrt(49x(sd_x)^2) OR slope/M
M = slope/L OR Sqrt of J (Sqrt(F-ratio))

N = SST/E
O = sqrt(N)

[image: image1.wmf]SUMMARY OUTPUT

Solution

Regression Statistics

Multiple R

0.500251831

STDEV(x)

15.57866527

R Square

0.250251894

Variance(y)

113366.3769

Standard Error

294.5623552

STDEV(y)

336.6992381

Observations

50

ANOVA

df

SS

MS

F

Significance F

Regression

1

1390137.377

1390137.377

16.02150218

0.000216167

Residual

48

4164815.094

86766.98112

Total

49

5554952.47

Coefficients

Standard Error

t Stat

P-value

Intercept

-135.07144

Not Relevant

Not Rel.

Not Rel.

X Variable 1

10.811864

2.701151591

4.002686869

0.000216167


